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oooooz® .., -2 -1,0,1,2,...}

0000 |z)]=max{beZ|b<z}
0000 [z] =min{beZ|b> x}
00 [3.14] = 3 and [3.14] = 4.

00 00000000
a=q-b+r OO0 0<r<b-1

ugbooobobgeroboobddbgoborobnog
O0e=68,0=7000067T=9x7+4
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a, b 0000000000000 0n0 a—b00000000a0 n
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a=b (modn)

O00OemodnU «c0nO00000OO00ODOOOODOOOO
e 13=4 (mod 9)
e 13mod 9 =4
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goboboooodgbon
e, b00000000O

ged(a,b) 0 ,b0000000000
ged(a,b) =10000q,b00000000000O0O
uag

e gcd(45,12) =3

e 560 15000000

lem(a,b) 0 ¢,b0000000000

a-b

lcm(a, b) = m
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ubboooboobode, ;00000000 bOOo0oooonooo
uboooobooboobotba > 000000000

ap = a1 q1 + a

a1 = a2q2 + as

k2 = A1 qQk—1 T Ak

Ak—1 = Ak Gk
ao,al,...,akDDDD

ged(ag, a1) = -+ - = ged(ag—1, ax) = ag
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ag, i, ..., ax0 Bo, ...,/ 00000000000

apg = Bo=0
o) = Br=1
aj = 0o — @101 Bj = Bj—2 — ¢j—18j-1

00000aja0+fje1=a; 00000000

ay ag + Br a1 = a, = ged(ao, ar)
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apg = 770, al = 336

ar = p1 =
770 = 336 x 2498 Qg = By = —2
336 = 98 x 3 + 42 az=—-3 [3=7
98 =42 x 2+ 14 g = ,34:—16

42 =14 %3

7x 770+ (—16) x 336 = 14
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00 z—y=z+(—y)

U0n=700000000

r+y

yl—y
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1
2
3
4
5
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01 2 3 456

0{0 1 2 3 4 5 6
1112 3 45 6 0

33 45 6 01 2

414 56 01 2 3

5/5 6 01 2 3 4

66 01 2 3 4 5

z|2]2 3 4 5 6 0 1
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U0n=700000000
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1 2 3 45 6 y |yt
1/1 2 3 4 5 6 1 1
212 46135 21 4

|33 6 2 5 1 4 30 5
414 15 2 6 3 41 2
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66 5 4 3 2 1 6| 6
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n0 0000000000000 a>n, b>n000

e a+bmodn = (amodn)+ (b mod n) mod n
e a-bmod n = (amodn)- (bmodn)modn
e —amodn = —(a mod n) mod n

e a~! modn = (a mod n)~! mod n

un

8- 9modbH=3+4mod5=2
8-9modbH=3-4mod5=2
—9modH5=—-4mod5=1

94 (=9)mod5=9+1mod5=10mod 5 =0

71 mod5=2"1mod5=3

7- 7 mod5=7-3mod5=21mod5=1
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O00n0000000000O00000aea>n,b>n000
a=q-n+r,b=q¢ n+r00<r<n-1,0<r<n-100000

a-bmodn=(¢g-n+r)(¢ -n+r")modn
=(q-¢ ">+ (qg-7"+¢ -r)n+r-r)modn
=7 -7 modn

= (amod n) - (b mod n) mod n
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0000 (Chinese Remainder Theorem) (1/2)

000 ni,ng,...,n, 0000000000000000N =[[",n:O
0000000000 er,e9,...,,0000

x=c; (mod ny)
x=cy (mod ngy)
x=c¢, (mod ng)

0 {0,1,...,N—1}00000
k
szciNiyimodN
=1
00o000obOoOd1<:<kOO0OO
NZ:N/nl y yi:Ni_l mod n;

ogoono
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x=2 (mod7)
z=6 (mod 8)
x =7 (mod 11)
oooo
N=7x8x11=616
000
N =88, 3y =8"'mod7=4""mod7=2
No=77, y=77"'mod8=5"'mod8=5
N3=56, y3=56"modll=1'mod1l=1
ooooo

3
T = ch-Niyi mod N = 590
i=1
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000000 (Euler Totient Function)
Udrn>1000000000000000O0OOO0O0O0O000

qﬁ(n)déf]{mmeZ/\lSxﬁn/\gcd(x,n)zl”

Theorem 1

nO0000000 n=pi'ps?---pr 0000
1 1 1
i) 2) (2
P P2 Pk
Oood

e Zn={0,1,...,n—1}
o 7 ={x|x € Zy Nged(x,n) =1}

O00n>200000¢(n)=|Z|
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o(5) = |{1,2,3,4}| = 5 (1 a é) _

4
#(9) = |{1,2,4,5,7, 8} :9( __) —6

1 1
$(12) = |{1,5,7,11}| = 12 (1 - 5) (1 - g) =4
$(30) = |{1,7,11,13,17,19, 23, 29}|

(-} -
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Zi, = {1,7,11,13,17,19, 23,29}

-l )3)()

=30(1 1+1+1+ 1+1+1 !
- 2'3"5 2%x3  2x5  3x5 2x3x5

=30-(154+10+6)+(5+3+2) —1=8
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Theorem 2

a,n00000D0ODO

ged(a,n) =1=a®™ =1 (mod n)

00000 f:Z—-7:0 f(r)=azmodnI00000ged(a,n) =1
O000«O zZz,oOoOooooODOOOfO101000000
Z = {bi,ba, . by} 0000000

p(n b(n)

)
b; = H a®™ H b; (mod n)

=1 i=1

00000000 ™ =1 (modn)00000000000 O
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n=15 a=4
7t ={1,2,4,7,8,11,13,14}, $(15) = 8
[ Ziy — Zi;

4 7 8 11 13 14
1 13 2 14 7 11

1 2
flz) |4 8

Zis = {b1,by,...,bs} 0000000

8 8 8

Hbi = H(4bi) =48 Hbi (mod n)

=1 =1 i=1

00000000 48=1 (mod n)0
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000000000 (Fermat’s Little Theorem)

Corollary 3
e, p00000000p00000000 ged(a,p)=10000

a?'=1 (mod p)

000 ¢(p)=p—100000000000O0O0ODODOOO
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0 (Group)

OOo0oO0oO0obOoOooOo0oobGohOOoUOobbOobobOOouoDbboOonO
eoJO000OOOOODOOODOOO a,beGOOOOacbed

e o J000ODOODOOODOODODOONO a,bceGODOO
(aob)oc=ao(boc)

e U000 aeeGUUUOOaol=Il0ca=a00007ITeGOiOOn
0070000 (dentity) 00O OO0

e 000D eeGUDO0O0O0aocat=atloa=I0000ate@
0000000000 (inverse) 000000

gboooooooooooooooogooboogonog

0000 ebeGOOOO aocb=boa

O0o000000D0GOOODO (additive group) D0 OO OO
00 o0000D000GOOOO (multiplicative group) D00 O0O00O
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00o0000oo
010Q\{0}0000000000000000

020z\{0}00000000000000

030000000-,00000Z,0n0000000000000
oooooog

000010000
e 000D0eez0000000e ez 000000

O0000000000000 aa+pBn=1000000 o,p0000
aa=1 (modn)
00000000006 ' =amodnO0000
0024 ={1,2,4,5,8,10,11,13,16,17, 19, 20}
—10x2+1x21=1

271=-10=11 (mod 21)
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Oooo0d
GO0000(00)00000

000 GUOO0D000 GOODO (order) DOODO

O0D0eeGUOOOODOem=10000000000m0O «0D0O
(order) DO OO

Theorem 4

GOOOOn»nO0O0O00O0O0OD0DeeGOOOO0«ODOOORRO000
ooo

Corollary 5

GOOOOrnO0O0OO0OO0OO0O0O0D0eeGUOOOOG=10000

00000000 Cor.5000000DO
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Th. 4000

acGOOODEKDOODODA={a",d?...,d"}0GOODOOOODOO

big AULAU---UbAD00 GOOODOOCOO0OO0OOOOO0O
googoo

b A = {bial,bia?, ... ba"}
boA = {boat, bya?, ... bya*}

bgA = {bgal, szLZ, ey bgak}

ooooO

o AUbJAU---UbA =G

e 00004 je{l,.....}00000ANBGA=¢ bANDA=¢
00000000000 ((+1)k=n0000k0 0000000 O
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0

73, ={1,2,4,5,8,10,11,13,16, 17, 19, 20}
a=40000 3

4 mod 21 =4, 42 mod 21 =16, 43 mod 21 = 64 mod 21 =1

A={1,4,16}
2A = {2,8,11}
5A = {5,20,17}

104 = {10,19,13}
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000 (cyclic group)

o000 GOo0ooO0oobooOoboo0oDooOoboo0oooobGeoOOoO
oboooood

000 GOOOO00000eeGOOOO GOOOOOOOOO0O0O
000 (generator) 1000000 (primitive element) D 00000

Theorem 6

p0000000D0D0O0Z;,000d000000O0000 ¢(dOO0OD0DO

Theorem 7
pO000O0OOOOOO Z;DDDDDDDD
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Th.60 00

Lemma 8
000000 mO0OO00OOe,c,...,¢, 000000
7)) = e G S S i

00000000D0p0000000f(z)=0 (mod p)0 Z,0000
00mO000000

zx000d00000000000000000 Lem. 8000
24—1=0 (mod p)0 Z;ODOOOOO0O00000O
A={d',e?...,0¥}0000000000Z;0004d000000 A
oooooo

#0000 d, 0000 ()% =af* =10000d|kd, 000000
0000dg =lem(d,k)/k=d/ged(d, k) 0000000000d, =d0O
D00D000000000 ged(d,k)=10000
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Th. 7000

Lemma 9

000000 -000000000000000

> 6(d)=n

d|n

Th.40Th.60Llem. 9000Z, 00000000
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oopbioob z,00

;000000000000 ¢(10)=40000
z¢ mod 11

| 1]2] 3[4] 5]6] 78] 9]10] ord. |

oo oo |o 0|
— — = |
— [ —
NeR Nl A0 |- O |O
—
™ O < | O ||
~ o 0O | (H O
—
™ 0 [<H | O [
S |~ oloc|o|l—H|o
— [y iy —
0 [ <H S| o |
0 O M~ N[O MmO
—
<t [ NN |O [<H |
| O D= |00 O |O
—
a ™ O [P~ |00 O |O
—
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n,a0 000000000000

r?=a (modn)0 Z,00000000000e¢0n00D000000

oboooooo

r?=a (modn)0 Z,0000000000000e¢0 nODOOOOO

gboooooboogoo

0000 (quadratic residues, QR)
00000 (quadratic non-residues, QNR)
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gobobooodgn

Theorem 10
pO0O0O00O0300000000003

«0p00000 QRODD ©a®PV2=1 (mod p)

000 (=)ae0p00000QROONOIONOOzeZ, 0000 2%°=a
(mod p) J0DO0DOO0O0O0DO0aP Y2 =2,"1=1 (mod p)0
(«)a?V/2=1 (mod p) 00000D0y0 ;00000000000
0000 k€Z, 10000 a=g" (modp) 000000

aP=1/2 = g(p=Dk/2 =1 (mod p) 0 yOOODOODO AOOODOOO
D000000000000000000g®D/2=1 (mod p)000
¢gUD0000000000000D0000000 ¢0p00000 QRO
ooo O
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000000 (Legendre) OO (1/2)
pUODOO0OD0ODDe0O0OODOOODOO
goooobobobobobooooooooooo

0 a=0 (modp)OODO
(9)= 1 «0p00000QROODODN
1 «0p00000QNROODDO
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0oooooooo (2/2)

Theorem 11
pO000000O0O0OODOO0O

(2) 072 mod p
p

O00a=0 (modp)00000O0OOO
a#0 (mod p) 000 0ged(a,p) =10 a?~! =1 (mod p)0

(a(p_l)/2 + 1) (a(p_l)/2 - 1) =0 (mod p)

aP™V/2 = 41 (mod p).
OO00000Th. 1000

a?V2=1 (modp)eael p0OO000 QR
a?1/?2=_1 (modp)<=aeDpdO0000 QNR
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000 (Jacobi) OO

n,a0l000000OO
O0000n00000000000000 n=p{t
gobooobooboobobooboo

@)-11(2)

=1 \Pi

Lp 0000

000000-~00000000000000000
00000 O((logn)?) 0000
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n n

2\ 1 n=41 (mod 8) O OO
n) | =1 n=43 (mod 8) 000

- (5) = () () pooe

o\* /'t
DDDDDtDDDDmzzhmmmmm(ﬁ>=<_>(_>

n
n

mDDDDDDD(T):@UWAMAW(

n

)DDDD

m
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Theorem 12 (D OO O)
NOOOOOOOOOOOoO N/lnNOOOO

ooboooooskbOo0OobO00obOOoobbOOobLbOb0OoDbDOOoDO

2k 2]{:71 2k71 214:71
In2F  In2k1 7 Im2k-1 "7 (k—1)In2

ooooOo k0oOooooo

1
Pr[0000OCODODO kDDDDDDDDDDDD]%OGQ:;k

0o ooooooooo
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2002 O O Agrawal, Kayal, SaxenaO O OO O0O0O0O00000000000O
oon
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gooboooooooooooooog
e Solovay-Strassen 0 0 0000
e Miller-RabinO0 0 OO OO

gbooooooooooooooooooon

e JO0O0OO0OODOODOODOODODODOODODODOODODOOD

e JOO0OO0OOUOOOOOODOOOODOOOOOOOODOOOODO
gboooobooboobbonbDbOOn

e JODOOODODOODLOODDo,OODDODO

e JOODOODDOODUOODOnDOOODLOODDOODOOO
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Solovay-Strassen 0 0 0 0 [0
n000000000000
®@l<u<n-1000000 00000000
@(3>ZODDDDnDDDDDDDDDDDDDDDDDD
n

eULuoboobooobooooboooon

oC”EaWﬂﬁﬁmdMDDDHnDDDDDDD
n
«00000000,00000000

goobooooooo

nO00000000n0000000000D00D0DO <L

N =
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Miller-RabinO O O OO

nO0000000D00O0000
On—-1=2"m000kmO0000000O0mOD0OOOO0OOO
®1<ae<n-—1000000«00O00OOC0OO0
O@b=ad"modn 000000

0bL=1(modn) 00000000000 0ODOOOOOOODO
®:=000kr—-1000000000DO0O0ODOO

Obv=-1 (modn) 0000000000000 0OOOOOOO
®@U000000b=¥modnO000000

6 Unb0O0000O0D0OO0ODOOODODOOOO
goooooooon

nU0000000n000000000000000O0 <
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® Th. 1000000

© Th. 400000AUNKAU---UA=GOOO0O00O0DO0O0OCOO
O lem. OO0 0O0OODO

eUullbilbD~O0D0O0ODOMiIler-RabinO O OOODOONO
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